SEDAER
B BERORNE 56 3m) 5% EdSiiT My 1
@ EEHMX B 24903 =)L Sv)./BRE(h)
Hh =1 £ H27.11. 6 Hh =1 £ H27.11. 6 h =1 £ H27.11. 6 h =1 £ H27.11. 6
va) #$;%%Fﬁ 0.09| (MEFELFT 0.10| [EEITEB 0.07 | [E#REKIG 0.12
FEBESF 0.10| [TNI&EEFR 0.10| [EEHH#E 0.08| |AFHAEFR 0.10
,ﬂE’\EﬁE*“’\ﬁE 0.09| (HEELM 0.09 | |EBEEF 0.08| Kb AKXZE 0.09
BN ERET 0.09| [HALER 0.10| [|@#Baz2=F1t>4—| 0.08 | |EH/INFR 0.06
ERBENS—E—LB] 011 [EOFHEXE 0.12| [EHRPER 0.07 | [hEESFRT 0.10
EORANHBLEE | 007 | |EBR/IMER 0.09 | [EHRAFEE 0.08| [{EEESFT 0.10
AKZEWHESFR |010| [ZHASNMSLKRFELE| 0.07 | |AMTESR (HH) | 0.09 | |LERTESR 0.10
WEFEXyI5 0.15| |—/1R&ELFR 0.10| |EB-AUAT DR 0.10| |FHEEFR 0.08
@ Kt [X
Hw B £ H27.11. 6 Hw A £ H27.11. 6 Hw B 4 H27.11. 6 Hw =2 4 H27.11. 6
BAERHIE ST 0.10 | |XKi#g/hER 0.08| |[K#REtEL 42— 0.10| |A/fEEMRTES | 0.09
K EHLE 0.09| | KHLAEREE 0.09| |F/RELFRR 0.09| |#HHFZBEMXHLLE—]| 0.11
KB T HE 0.07 | |MIAZEMERM |0.10| | KHEMNBANEK |0.09| |[KsEER#HEL 42— 0.10
ZANBELORFREE| 0.09 | |[xshbLeBENGLES| 0.08| |[BRASE 0.10| [BmizBMxZHEL 4—] 0.09
R FE SR 0.10]| [Kigdh=# 0.09| (o2 EAE 0.12
@ H K X
W A £ H27.11. 6 H £ £ H27.11. 6 H £ £ H27.11. 6 H £ £ H27.11. 6
LEAREFRELV2—| 0.21 | [EZ2AWMELTFT | 0.28 | |fRREER 0.13| |AABREEHELVS—| 0.08
AR A ERELS— | 0.10 | [mwssesmienamansem | 0.25 | |reremeernmets—| 0.13 | [BB/BELSFT 0.15
EHRNER-PHE) 011 | |AEER L S— 0.13| |fEH ESERERT 0.10| |BEF&E=FR 0.15
BEHFHRIRELSE 0.13| [FTEZREEZ L S—| 0.19| |hHE/NEREES | 0.23| |FZEMHHELS—| 0.20
EHRT—ILEIEIE| 0.17 | |=mtsssrrrunaius | 0.16 | |[wEmEBEnmHEERESE | 0.08 | [BRESU—21HRE1] 0.17
BHRILMETRELLA— | 0.13 | |BPBRCELE 0.15| |BeZBEMHELL4—| 0.15| |EIUO&ELFAT(HERE) | 0.16
BMELH)—2 N9 RRI| 0.31 | |HE/NER 0.13| [BRHY)V—2/NORFI| 0.19 | |mwEErEtmmmse 45— | 0.18
EEAmERTAR | 0.18| |#EHER 0.18| |BF&EEF 010 | [FU—2R—5EE& | 017
F+ALFv T8 | 0.30 | |HBITEHE 0.11| |FxHEEF 0.16
O EEMX
H#h =1 £ H27.11. 6 h =1 £ H27.11. 6 h =1 £ H27.11. 6 Hh =1 £ H27.11. 6
WHEE SRR 0.08| [AEEEEF 0.12| |[BEAREEAANEE 007 | |[BIUSEXY T | 0.25
BESHHE 0.10| (ARG ESFH 0.08| [/MEBILUESFR 0.08 | [JIlmAR—L 0.09
HTIHEEELA—| 0.10 | |e#ns—smznseassain | 0.15 | |BFE)IESAR 009 | [HR&ESFT 0.10
BEREM 0.09 | [AERA/NER 0.09 | [RFHELF 0.14 | |BEEARELELEE 0.13
EEINER 0.09| |EEILESFR 0.09| (JEH!IRESE 0.09| [APFLVBEHADFE | 0.15
BE PR 008 | |[AREMRELSRA | 0.11]| [EINEFERELVS—]0.06| |RAS/NLREEDL 012
BETERB 0.09| (FEMEESH 0.11| [J\IHE&EEFR 0.12| |FEEEF 0.09
SEONE 0.18| [BE&R/IMZER 0.08
@5 #h X
#H B A H27.11. 6 Hw A £ H27.11. 6 Hm A £ H27.11. 6 Hh B 4 H27.11. 6
B3 B ER AT 0.10| (feEIREtE 42— 0.14| MEAREE 0.16 | |BEEESFR 0.12
B4 R/NVFERARPET 0.09| [BILEEALY 0.10| |mslEHEEV2— 0.12| [ KRFESFR 0.11
INRAREE 0.09 | [MEIEEER 011 | | KEZBMESM |013| |FRHEFM 0.07
HFTHHREEHS | 0.13| |[AB=1—4Y &2 | 0.12| [ENI/INERR 0.07 | |BRINER 0.10
MEIoE4EBIERT | 010 | [fBHEDFZF RERMEE | 0.11 | [HE)IHRFT 0.15 | |tEHEREFR 0.08
MalE2950F FEREE| 0.09 | |(DUSIHAEAF | 0.10| |3EIIEENS 0.09| |FILEEXAREE 0.08
TI—ORBEL 012| |[FELRE 0.09 | |FERMEZEMESA| 0.13 | [IBFIL/NER 0.11
s aE G | 0.13 | |BWZEMESF | 0.15 | |F/IhER 0.11| |t H3ERHERT 0.08
i o] a2 5y 011 | [AEHRILLTEEIEIS| 0.10| |BHEK 015 | [kBLEfE 0.09
KigESnHLAE| 0.10| [IBFIL/NER 0.09 | |BHIEFM 0.08| EURAREE 0.10
e l/NERR 0.08| |BLUAHLARE 0.13| HLUAREE 0.13| [fa5IEE/IMEER 0.09
ﬂ’ﬁ%lﬁ&ﬁﬁ 0.07 | [X3kHsRmM 0.09 | |RKBHNRE 0.23 | [MBIFEHER 0.09
HEEE—5£fF | 011 |[FAIFIZERM 0.08| | EEAREE 0.16 | | AL EHRESF | 0.11
MBI SR REREE| 0.07 | |IBBEFHF/NER 0.09 | |[tBE®BIz2=54T55 | 0.14| |HIEELF 0.09
FETN REE 0.09| [EHZZEMES (013 [HEHEARE 011| | ERQREE 0.10
mEIRER 0.09| [EWHIRFT 0.10| |FEIthEAREE 0.15| |[XEAREE 0.10
FrALRIL—LUEDY | 0.11 | [EWL/NERR 0.09| |FUHRESF 0.14 | |EH/MERK 0.10
SR ELE 0.09| [EWLEES 0.11| |EREBHEM/\XE |0.12| |EHERH 0.12
KETAREE 0.08| |sEHEZEMESA| 0.11 | |[FTERZFEERAA | 0.20| |EAHKRR 0.11
st RREE | 010 | |BrERIETE 0.20 | |HEEREEF 0.17 | |ZEHEENS 0.11
I EH#HE 0.10| |ELEREE 014 | |azmngmErmn=x% | 024 | |[EMARXRARE 0.17
WEIERFTAE (FLE) | 014 | [EX=ZROEREE 0.10| |ABEESF 011 | |edEmzzEmsB 528 | O.17
[HERHER 0.07| | ENBHRARE | 0.09]| [LBEXF 0.09 | |BE#ESIXEA®L - EAE| 0.11




